
CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY (HINGLISH)

ALDEHYDES AND KETONES

Exercise

1. Match the following columns

A. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nhDnifQLevcK


B. 

C. 

D. 

Answer: A

Watch Video Solution

2.  


Above conversion can be achieved by :

A. Wolf-Kishner reduction

https://dl.doubtnut.com/l/_nhDnifQLevcK
https://dl.doubtnut.com/l/_7qOFS0zjz1gW


B. Clemmensen reduction

C. 

D. 

Answer: B

Watch Video Solution

LiAIH4

NaBH4

3.  


Above conversion can be achieved by :

A. Wolf-Kishner reduction

B. Clemmensen reduction

C.  , following by Raney Ni

D. None of these

Answer: D

h id l i

HS − CH2 − CH2 − SH

https://dl.doubtnut.com/l/_7qOFS0zjz1gW
https://dl.doubtnut.com/l/_IAykdijQrmPH


Watch Video Solution

4.  


Product of the Clemmensen reduction is :

A. 

B. 

C. 

z

https://dl.doubtnut.com/l/_IAykdijQrmPH
https://dl.doubtnut.com/l/_TXU1sgTualYQ


D. 

Answer: C

Watch Video Solution

5. 

Above conversion can be achieved by :

A. Wolf-Kishner reduction

B. Clemmensen reduction

C. 

D. 

Answer: A

CH3 −

O

∣ ∣

CH − CH2 − CH2 −

O

∣ ∣

C − CH3 → CH3 −

OH

∣

CH − (CH2)3 − CH3

LiAIH4

NaBH4

https://dl.doubtnut.com/l/_TXU1sgTualYQ
https://dl.doubtnut.com/l/_uKfmrfrDW82F


Watch Video Solution

6.  


Identify product (A) & (B) from the given product P , Q , R :

A. A=P , B=Q

B. A=Q , B=R

C. A= Q , B=P

D. A= R , B= P

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uKfmrfrDW82F
https://dl.doubtnut.com/l/_oDLvxjfhmEpE


7.  


(A) , Identify the A .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BRVvGGzXVlhA
https://dl.doubtnut.com/l/_jigJbWowiVF1


8.  


(A) , Product (A) is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_jigJbWowiVF1


D. 

Answer: B

Watch Video Solution

9.  


Above conversion can be carried out by :

A. Clemmensen reduction

B. Wloff-Kishner reduction

C. 

D. 

LiAIH4

NaBH4

https://dl.doubtnut.com/l/_jigJbWowiVF1
https://dl.doubtnut.com/l/_r9fpbD5jo2ex


Answer: B

Watch Video Solution

10. Increasing order of equilibrium constants for the formation of a

hydrate : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

IV < III < II < I

IV < III < I < II

I < II < III < IV

II < III < I < IV

https://dl.doubtnut.com/l/_r9fpbD5jo2ex
https://dl.doubtnut.com/l/_e6TOuhfUs7XW
https://dl.doubtnut.com/l/_HFDcyMoA32en


11.  


Product (A) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HFDcyMoA32en


12.  


Predict the product of hydrolysis of the above molecule .

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_O229kmy3ULgo


Watch Video Solution

13.  


This conversion can be achieved by :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Me2C , H3O
⊕ , KMnO4 /HO−∅

H +

Me2C , KMnO4, H3O
⊕∅

H +

KMnO4 /NaO4, Me2CO/H + , H3O

KMnO4 /NaIO4, H3O
+ , Me2CO/H +

https://dl.doubtnut.com/l/_O229kmy3ULgo
https://dl.doubtnut.com/l/_KJ5RF4PliZQc
https://dl.doubtnut.com/l/_90STrm3O9KyO


14.  


 . Compound (A) & (B) can be differentiated by :

A. 2-4 DNP

B. Fehling solution

C. Lucas reagent

D. 

Answer: B

Watch Video Solution

H3O
⊕

−−−→ A + B

NaHSO3

15.  


 , Product (A) is :
HOH ,H + / catalyst

−−−−−−−−−−−−−−→
20 ∘C , 15min

(A) + H − H −

O

∣ ∣

C − OMe
Methyl formate

https://dl.doubtnut.com/l/_90STrm3O9KyO
https://dl.doubtnut.com/l/_A3giYPFceFto


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

16.  


Reagents to carry out above conversion , P ,Q, R respectively are :

A.  , Wacker-processH2C = CH − CH2 − Br, (HOɵ), [HOɵ , Δ]

https://dl.doubtnut.com/l/_A3giYPFceFto
https://dl.doubtnut.com/l/_snlhLDZC4M93


B.  , Wacker-process , 

C. wacker process , 

D. Wacker process , 

Answer: B

Watch Video Solution

H2C = CH − CH2 − Br, (HOɵ) HOɵ , Δ

H2C = CH − CH2 − Br(HOɵ), HOɵ (Δ)

HOɵ (Δ), H2C = CH − CH2 − Br(HOɵ)

17.  


Above reaction is a Baeyer Villiger rearrangement of an asymmetric

ketone with magnesium mono peroxo pthalate hexahydrate (in the

drawing ,  is omitted for clearity ) identify major product .

A. 

Mg+2

https://dl.doubtnut.com/l/_snlhLDZC4M93
https://dl.doubtnut.com/l/_uQeuGnMHhqVE


B. 

C. 

D. 

Answer: B

Watch Video Solution

18.  


Above compounds can be differentiated by following reagent :

https://dl.doubtnut.com/l/_uQeuGnMHhqVE
https://dl.doubtnut.com/l/_wvIxclPHnDST


A. 2-4 DNP

B. Tollen's reagent

C. Lucas reagent

D. 

Answer: B

Watch Video Solution

NaHSO3

19.  


Product (D) will be :

A. 

B. 

https://dl.doubtnut.com/l/_wvIxclPHnDST
https://dl.doubtnut.com/l/_IhY4wDbO4DhM


C. 

D. 

Answer: B

Watch Video Solution

20.  


Relationship between products (Q) and (S) is :

A. Positional isomer

B. Chain isomer

C. Stereoisomer

D. Functional isomer

https://dl.doubtnut.com/l/_IhY4wDbO4DhM
https://dl.doubtnut.com/l/_WyofzYiwUhf8


Answer: D

Watch Video Solution

21. In the reaction ,

 


the product (X) is :

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_WyofzYiwUhf8
https://dl.doubtnut.com/l/_cS4liWgfRJwC


Watch Video Solution

22. Rank the following in order of increasing value of the equilibrium

constant for hydration ,  (smallest value first) . 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Khyd.

1 < 2 < 3

3 < 1 < 2

2 < 1 < 3

2 < 3 < 1

https://dl.doubtnut.com/l/_cS4liWgfRJwC
https://dl.doubtnut.com/l/_ZcT8Gz2Y5SAh


23.  


Above conversion can be achieved by :

A. Zn(Hg) , HCl

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH2 − NH2 /KOH /Δ

LiAIH4

H2 /Ni

https://dl.doubtnut.com/l/_fq6z1v4eBA3v


24. Which sequence represents the best synthesis of hexanal ? 

A. 1.  


B.  


2.  , diethyl ether 


3.  


4. 

C. 1.  


2.  


D. 

Answer: D

Watch Video Solution

CH3CH2CH2 CH2
Hexanal

CH2CH = O

CH3CH2CH2CH2Br + NaC ≡ CH

2. H2O, H2SO4, HgSO4

1. CH3CH2CH2CH = CH2 + CH3

O

∣ ∣

COOH

CH3MgBr

H3O
+

PC, CH2Cl2

CH3CH2CH2CH2

O

∣ ∣

CCH3

CH3

O

∣ ∣

COOH     3. LiAlH4

H2O     5. PC, CH2Cl2

https://dl.doubtnut.com/l/_qJLD6ziZYmdS


25.  


Product (B) in this reaction is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_qJLD6ziZYmdS
https://dl.doubtnut.com/l/_rNlQgcMWO1Do


Answer: C

Watch Video Solution

26.  


Compound (x) in the above reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph −

O

∣ ∣

C − CH3

Ph −

O

∣ ∣

C − H

Ph − CH2 −

O

∣ ∣

C − H

Ph − CH2 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_rNlQgcMWO1Do
https://dl.doubtnut.com/l/_H2CAVu098zx8


27.  


Product (C) of the above reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph −

O

∣ ∣

C − CH3
NaNO2

−−−−−→
HCl

(A)
AC2O

−−−−−→
heat

(B)
H3O

+

−−−→ (C)

Ph − CO2H

Ph −

O

∣ ∣

C − CO2H

Ph −

O

∣ ∣

C −

O

∣ ∣

C − H

Ph −

O

∣ ∣

C − CH2OH

28.  


Product (B) of the reaction is :

https://dl.doubtnut.com/l/_H2CAVu098zx8
https://dl.doubtnut.com/l/_0aeduGhRcPWT
https://dl.doubtnut.com/l/_YAh5LUN5CDpV


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ph − CH2 − NO2

Ph − CH2 − ONO

Ph − CHO

Ph − O − N = O

29.  


Product (A) of the above reaction is (bromination occur not in the

benzene ring ):

A. 

https://dl.doubtnut.com/l/_YAh5LUN5CDpV
https://dl.doubtnut.com/l/_5DBsHjlElvTz


B. 

C. 

D. 

Answer: B

Watch Video Solution

30.  


 Positive Tollens test 


Compound (A) is :

A. 

H2O
−−−−−−−−−→

drop of H2SO4

CH3 −

O

∣ ∣

C − CH
∣

OCH3

− CH2
∣

OCH3

https://dl.doubtnut.com/l/_5DBsHjlElvTz
https://dl.doubtnut.com/l/_wSzpuj4ykvZ3


B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 −

O

∣ ∣

C −

OCH3

∣

C
∣

OCH3

− CH3

CH3 −

O

∣ ∣

C − CH2 − CH
∣

OCH3

− OCH3

H −

O

∣ ∣

C − CH2 − CH2 − CH
∣

OCH3

− OCH3

31.  


Reactant (A) in this reaction is :

A. 

B. 

https://dl.doubtnut.com/l/_wSzpuj4ykvZ3
https://dl.doubtnut.com/l/_k8yvpXOMBlHF


C. 

D. both (b) and (c)

Answer: D

Watch Video Solution

32.  


Compound (P) is :

A. 

B. 

C. 

D. 

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH2 − CH
∣

OH

− CH3

CH3 −

O

∣ ∣

C − CH2 −

OH

∣

CH − CH2 − CH2 − CH3

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH2 − CH2 − CH2 − OH

CH3 −

O

∣ ∣

C − CH
∣

CH3

−

OH

∣

C
∣

CH3

− CH3

https://dl.doubtnut.com/l/_k8yvpXOMBlHF
https://dl.doubtnut.com/l/_pB7mFakyZ1fg


Answer: C

Watch Video Solution

33. Correct order of reactivity of following compounds towards Grignard

reagent ? 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I > II > III

II > I > III

II > III > I

I > III > II

https://dl.doubtnut.com/l/_pB7mFakyZ1fg
https://dl.doubtnut.com/l/_KEFbN72UCeKT
https://dl.doubtnut.com/l/_SBvt3ry9PqaQ


34.  


Product (A) is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_SBvt3ry9PqaQ


Answer: B

Watch Video Solution

35.  


Total number of products obtained in above reaction is :

A. 2

B. 3

C. 4

D. 5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SBvt3ry9PqaQ
https://dl.doubtnut.com/l/_kvOsrjYP3RXf


36. What reagent and /or reaction conditions would you choose to bring

about the following conversion ? 

A. 

B.  , heat

C.  , heat

D. 

Answer: B

Watch Video Solution

1. LiAlH4, 2. H2O

H2O, H2SO4

H2O, NaOH

PC, CH2Cl2

37.  


 yield , Product of the reaction is :81 %

https://dl.doubtnut.com/l/_C1Hjuc9Hmioi
https://dl.doubtnut.com/l/_RYR9ge3JnRot


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RYR9ge3JnRot


38.  


The above reduction can be best carried out by :

A. Clemmensen reduction

B. Wolff-Kishner reduction

C. 

D. None of these

Answer: D

Watch Video Solution

NaBH4

39.  


 


Product (A) and (B) is differentiated by :

CH3 − C ≡ CH
HgSO4

−−−−−−→
dil.H2SO4

(A)

CH3 − C ≡ CH
( 1 )BH3 .THF

−−−−−−−−−−−→
( 2 )H2O2 /HO−

(B)

https://dl.doubtnut.com/l/_88dLX0oteI2Z
https://dl.doubtnut.com/l/_meKaYfgF3eBj


A. 2-4 DNP

B. NaOI

C. Na-metal

D. 

Answer: B

Watch Video Solution

NaHSO3

40.  


 


End product (C) in above reaction is :

A. 

HCN
−−→ (A)

LiAIH4
−−−−→ (B)

NaNO2
−−−−−−→

HCl
(C)

https://dl.doubtnut.com/l/_meKaYfgF3eBj
https://dl.doubtnut.com/l/_EIJ7Ep8Alj57


B. 

C. 

D. 

Answer: A

Watch Video Solution

41. Compound (X)  , which reacts with 2,4-DNP derivative and gives

negative haloform test is :

A. 

B. 

C4H8O

CH3 −

O

∣ ∣

C − CH2 − CH3

CH3 − CH
∣

CH3

− CHO

https://dl.doubtnut.com/l/_EIJ7Ep8Alj57
https://dl.doubtnut.com/l/_2VRIodqMR81D


C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH2 −

OH

∣

CH − CH3

42. When a nucleophile encounters a ketone , the site of attack is :

A. the carbon atom of the carbonyl

B. the oxygen atom of the carbonyl

C. both the carbon and oxygen atoms , with equal probability

D. no attack occurs as ketones do not react with nucleophiles

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2VRIodqMR81D
https://dl.doubtnut.com/l/_FdPGzto64ww1


43. The correct order of rate of reaction toward nucleophilic addition

reaction : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a > b > c > d > e

a > b > d > c > e

a > d > e > b > c

a > b > e > d > c

https://dl.doubtnut.com/l/_FdPGzto64ww1
https://dl.doubtnut.com/l/_2YgwdRcvMEuH


44. The structure 

 


would be best classified as a(an) :

A. Acetal

B. hemiacetal

C. Hydrate

D. Cyanohydrin

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lrcm8X4W9vbj


45. Which of the following pairs of reactants is most effective in forming

an enamine ?

A. 

B. 

C. 

D. None of these form an enamine .

Answer: B

Watch Video Solution

CH3CH2

O

∣ ∣

CH + [(CH3)2CH]
2
NH

(CH3)3C

O

∣ ∣

CH + (CH3)2NH

46. The reaction of  with  gives :

A. 

B. 

C6H5CH = CHCHO LiAlH4

C6H5CH2CH2CH2OH

C6H5CH = CHCH2OH

https://dl.doubtnut.com/l/_lrcm8X4W9vbj
https://dl.doubtnut.com/l/_FgalTgkSWsXw
https://dl.doubtnut.com/l/_QmZeO1CYRZ2k


C. 

D. 

Answer: A

Watch Video Solution

C6H5CH2CH2CHO

C6H5CH2CHOHCH3

47.  


Product (B) of the reaction is :

A. 

B. 

https://dl.doubtnut.com/l/_QmZeO1CYRZ2k
https://dl.doubtnut.com/l/_otYhXKydrheH


C. 

D. 

Answer: B

Watch Video Solution

48. Which of following compound is hemiacetal ?

A. 

B. 

https://dl.doubtnut.com/l/_otYhXKydrheH
https://dl.doubtnut.com/l/_dIGZFstlp0hp


C. 

D. all of these

Answer: D

Watch Video Solution

49.  , Find product of the

reaction will be :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ph − CH2 − C ≡ N
LDA

−−−−−→
THF

CH3I
−−→ 71 %

Ph − CH2 − CH2 − NH2

Ph − CH2 − NH2

Ph − CH
∣

CH3

− C ≡ N

Ph − CH = C = N − CH3

https://dl.doubtnut.com/l/_dIGZFstlp0hp
https://dl.doubtnut.com/l/_rNUty1ZDkWl9


50.  


Above conversion can be achieved by :

A.  followed by 

B.  followed by 

C. 

D. 

Answer: B

Watch Video Solution

Ph − CH = CH −

O

∣ ∣

C − CH3 → Ph − CH = CH − CO2H

KMnO4, Δ H +

I2 /NaOH H +

H2 /Pt

LiAiH4

https://dl.doubtnut.com/l/_rNUty1ZDkWl9
https://dl.doubtnut.com/l/_SVsfZVkXaTAj


51.  


 Products , Product of the reaction is/are :

A. 

B. 

C. HCHO

D. Both (a) and (c)

Answer: D

Watch Video Solution

H3O
⊕

−−−→

https://dl.doubtnut.com/l/_ojZGIUxZ73Fn
https://dl.doubtnut.com/l/_8SbRIfHmelwN


52.  

Product (A) of the reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

53.  

Product (C) of the reaction is :

A. 

B. 

https://dl.doubtnut.com/l/_8SbRIfHmelwN
https://dl.doubtnut.com/l/_HJT8eA7zJPy0


C. 

D. 

Answer: B

Watch Video Solution

54.  

Product (A) of the reaction will be :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH2 − CH3

CH3 − CH2 −

O

∣ ∣

C − CH2 − CH2 −

O

∣ ∣

C − CH3

CH3 − CH2 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_HJT8eA7zJPy0
https://dl.doubtnut.com/l/_UQi3LaD1eMwi


55.  . This reaction gives best

yield at :

A. pH 1-2

B. pH 4-5

C. pH 10-11

D. pH 13-14

Answer: B

Watch Video Solution

R −

O

∣ ∣

C − H
R−NH2

−−−−→ R − CH = N − R

56. An aromatic compound A of the molecular formula  on

reaction with iodine and dilute NaOH gives a yellow precipitate . The

structure of the compound is expected to be:

A. 

C8H10O

https://dl.doubtnut.com/l/_UQi3LaD1eMwi
https://dl.doubtnut.com/l/_03hZVBxYzWkF
https://dl.doubtnut.com/l/_9IuBvGEAhJWO


B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5CHOHCH3

57. Compound A (molecular formula  ) is treated with acidified

potassium dichromate to form a product B (molecular formula ) .

B forms a shining silver mirror on warming with ammonical silver nitrate ,

B when treated with an aqueous solution of  and

sodium acetate gives a product C . identify the structure of C .

A. 

B. 

C. 

D. 

C3H8O

C3H6O

NH2NHCONH2

CH3CH2CH = NNHCONH2

CH3 C
∣

CH3

= NHHCONH2

CH3 C
∣

CH3

= NCONHNH2

CH3CH2CH = NCONHNH2

https://dl.doubtnut.com/l/_9IuBvGEAhJWO
https://dl.doubtnut.com/l/_k3UOdofN4lQa


Answer: A

Watch Video Solution

58. In the reaction , the acid obtained will be : 

A. D-isomer

B. L-isomer

C.  mixture

D. (50%D + 50%L) mixture

Answer: D

Watch Video Solution

CH3CHO + HCN → CH3CH(OH)Cn
H −OH

−−−−→ CH3CH(OH)COOH

(80 % D + 20 % L)

59. In the following sequence : 

 (iii) , Product (iii) is :CH3CH2Cl
NaCN

−−−→ (i)
Ni/H2

−−−→ (ii)
acetic anhydride

−−−−−−−−−→

https://dl.doubtnut.com/l/_k3UOdofN4lQa
https://dl.doubtnut.com/l/_sW9QRvYuZESb
https://dl.doubtnut.com/l/_2BSEfvr4Yqx0


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2CH2NH2

CH3CH2CH2CONHCH3

CH3CH2CH2NHCOCH3

CH3CH2CH2CONHCOCH3

60.  

Product (G) is :

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_2BSEfvr4Yqx0
https://dl.doubtnut.com/l/_yqtDHIGIarZ0


Watch Video Solution

61. Carbonyl compounds can generally be converted to hydrocarbons by :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2 /Pt

LiAlH4

N2H4 − KOH /Δ

K2Cr2O7 − H2SO4

62.  

Product (A) is :

A. 

B. 

https://dl.doubtnut.com/l/_yqtDHIGIarZ0
https://dl.doubtnut.com/l/_9n6sn3rLzBSm
https://dl.doubtnut.com/l/_AE70cKPhquXf


C. 

D. 

Answer: A

Watch Video Solution

63. Which statement about the aldol condensation is correct ?

A. A lewis acid is commonly used as a catalyst

B. The initial step is probably the formation of a carbanion

C. A Lewis base is employed to induce carbocation formation

D. The carbon chain is lengthened through the elimination of 1 mole

of water

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AE70cKPhquXf
https://dl.doubtnut.com/l/_7g9ieY71Mlbt
https://dl.doubtnut.com/l/_fb2RyQfwDVqO


64. A compound gives a positive test with  and is extracted

from benzene by saturated  . It may be :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I2 /NaOH

NaHSO3

CH3(CH2)4CHO

CH3(CH2)3COCH3

CH3CH2COCH2CH3

CH3(CH2)4CH2OH

65. Which of the following compounds reaction with excess 

and subsequent hydrolysis will give a tertiary alcohol ?

A. 

B. 

C. 

CH3MgBr

C2H5CHO

C2H5CO2CH3

C2H5COOH

https://dl.doubtnut.com/l/_fb2RyQfwDVqO
https://dl.doubtnut.com/l/_QeqNFz8gFa7h


D. 

Answer: B

Watch Video Solution

66.  

Reactant (A) and (B) is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ph − CH2 − CH = O + NH2 − OH

Ph − CH = O + NH2 − OH

Ph −

O

∣ ∣

C − CH3 + NH2 − NH2

Ph −

O

∣ ∣

C − CH3 + NH2 − OH

https://dl.doubtnut.com/l/_QeqNFz8gFa7h
https://dl.doubtnut.com/l/_otLxOoUxJbBx


67.  


Product (A) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −

O

∣ ∣

C − OH
Ca (OH ) 2

−−−−−−−−→
Δ

(A)

68. Which of the following does not form a stable hydrate on addition of

 ?

A. 

B. 

H2O

Ph −

O

∣ ∣

C −

O

∣ ∣

C −

O

∣ ∣

C − − Ph

https://dl.doubtnut.com/l/_jhOxwAEUto6S
https://dl.doubtnut.com/l/_BFZh6nvbEoHl


C. 

D. 

Answer: D

Watch Video Solution

69. Consider the following sequence of reactions . 

 

The ketone (A) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BFZh6nvbEoHl
https://dl.doubtnut.com/l/_ubV4oOMHUSGx


70. In the reaction , 

 

the product (X) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

71. The conversion of acetophenone into benzoic acid can be achieved by

its reaction with :

A. sodium hydroxide followed by acidification

https://dl.doubtnut.com/l/_ubV4oOMHUSGx
https://dl.doubtnut.com/l/_HMMgunl4KBTx
https://dl.doubtnut.com/l/_HRBa923HwGqP


B. iodine and sodium hydroxide , followed by acidification

C. hydrooxylamine followed by reaction with 

D. m-chloroperoxobenzoic acid

Answer: B

Watch Video Solution

H2SO4

72. In which of the following compounds the methylenic hydrogens the

most acidic ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COCH2CH3

CH3CH2COOC2H5

CH3CH2CH(COOC2H5)2

CH3COCH2CN

https://dl.doubtnut.com/l/_HRBa923HwGqP
https://dl.doubtnut.com/l/_Wa1ye3wqfSjy


73. Which is the major product of the following reaction ? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

74.  


Product (B) is:

A. 

Ph −

O

∣ ∣

C − OH
SOCl2

−−−→ (A)
H2

−−−−−−−−→
Pd−BaSO4

(B)

Ph −

O

∣ ∣

C − H

https://dl.doubtnut.com/l/_Wa1ye3wqfSjy
https://dl.doubtnut.com/l/_PsLdOiY2B94B
https://dl.doubtnut.com/l/_NHiMcreBN2dp


B. 

C. 

D. 

Answer: A

Watch Video Solution

Ph − CH2 − OH

Ph − CH2 − Cl

Ph − CH = CH2

75. The presence of unsaturation in organic compounds can be tested

with :

A. Schiff's reagent

B. Tollen's reagent

C. Fehling's reagent

D. Baeyer's reagent

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NHiMcreBN2dp
https://dl.doubtnut.com/l/_nOGbw8YEcQBx


76. Which of the following gives iodoform test ?

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

CH3CH2OH

C2H5CHO

(CH2OH)2

77. Which of the following -keto carboxylic acid does not undergo

decarboxylation on heating ?

A. 

B. 

C. 

β

https://dl.doubtnut.com/l/_nOGbw8YEcQBx
https://dl.doubtnut.com/l/_xf38yFJKJxdm
https://dl.doubtnut.com/l/_hzYdH2FFsMLU


D. None of these

Answer: A

Watch Video Solution

78. 

Product (D) is :

A. 

B. 

C. 

D. 

Answer: A

HOCH2CH2CH2 −

O

∣ ∣

C − OCH2CH3
PCC

−−→ (A)
H2C=CHMgBr

−−−−−−−−−−−−−→
( 1molar equivalent )

(B)
NH4

−−−−

H2C = CH − CH2 − C
∣
OH

− CO2H

H2C = CH − C
∣
OH

− CH2 −

O

∣ ∣

C − O −

O

∣ ∣

C − CH3

H2C = CH − CH2 − CH
∣

OH

− CH2 −

O

∣ ∣

C − O − H

https://dl.doubtnut.com/l/_hzYdH2FFsMLU
https://dl.doubtnut.com/l/_AKw5iS8JuC9W


Watch Video Solution

79. The compound shown in the below undergoes racemization on

reaction with aqueous acid . 

 

Which of the following structures best represents the intermediate

responsible for this process ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AKw5iS8JuC9W
https://dl.doubtnut.com/l/_MoXJhxImu2k6


80. The final product of the following sequence of reaction is : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3O)2CHCH2CH2CH2Br
Mg

−−→
H2C=O

−−−−→
H3O

+

−−−−−→
heat

CH3O

O

∣ ∣

CCH2CH2CH2CH2OH

CH3

O

∣ ∣

CCH2CH2CH2CH2OH

H

O

∣ ∣

CCH2CH2CH2CH2OH

H

O

∣ ∣

CCH2CH2CH2

O

∣ ∣

CH

81. The amino ketone shown below undergoes a spontaneous cyclization

on standing . What is the major product of this intramolecular reaction ? 

A. 

https://dl.doubtnut.com/l/_kLvzGjzLcXwb
https://dl.doubtnut.com/l/_Dl8OG293xRn3


B. 

C. 

D. 

Answer: D

Watch Video Solution

82. Compound (A)  is optically active . Compound (A) give negative

Tollens test and positive test with 2-4-di-nitro phenyl hydrazine . Identify

A.

A. 

B. 

C. 

D. 

C6H12O

CH3 −

O

∣ ∣

C − CH2 − CH
∣

CH3

− CH3

CH3 −

O

∣ ∣

C − CH
∣

CH2 −CH3

− CH3

H −

O

∣ ∣

C − CH2 − CH
∣

CH2 −CH3

− CH3

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_Dl8OG293xRn3
https://dl.doubtnut.com/l/_0km9hjllCCP2


Answer: B

Watch Video Solution

83.  

Product (A) of the reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

84.  

Product (Q) will be :

https://dl.doubtnut.com/l/_0km9hjllCCP2
https://dl.doubtnut.com/l/_UQe3YqZcp0OP
https://dl.doubtnut.com/l/_5PrZyhbLc9WI


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

85.  


Product (B) of above the reaction is :

A. 

B. 

C. 

D. 

Answer: B

Ph − CH3
CrO2Cl2

−−−−→ (A)
conc.KOH

−−−−−→ Ph − CH2OH + (B)

Ph − CO2H

Ph − CO−
2

Ph − CHO

Ph − CH3

https://dl.doubtnut.com/l/_5PrZyhbLc9WI
https://dl.doubtnut.com/l/_HwD3bJI9ebO6


Watch Video Solution

86.  

 Product , Product obtained in the reaction is :

A. Diastereomer

B. Racemic

C. Meso

D. Optically pure enantiomer

Answer: A

Watch Video Solution

( i )KCN

−−−−−−−→
( ii )H +

87.  

, Product(C) of the reaction is :

A. 

NH2OH
−−−−→ (A)

H +

−−→ (B)
LAH

−−→ (C)

https://dl.doubtnut.com/l/_HwD3bJI9ebO6
https://dl.doubtnut.com/l/_Qyvsm2ThMPTh
https://dl.doubtnut.com/l/_vOxtUT1BmIsN


B. 

C. 

D. 

Answer: B

Watch Video Solution

88.  

Product (A) and (C) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vOxtUT1BmIsN
https://dl.doubtnut.com/l/_gVsJHF00Rhpm


89.  


Product (B) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph −

OH

∣

CH − CH3
PCC

−−→ (A)
NH2 −NH −

O

∣ ∣

C −NH2

−−−−−−−−−−−−−→ (B)

Ph −

CH3

∣

C = N −

O

∣ ∣

C − NH − NH2

Ph − C
∣

CH3

= N − NH −

O

∣ ∣

C − NH2

Ph − CH = N − N
∣

CH3

−

O

∣ ∣

C − NH2

Ph − CH = N −

O

∣ ∣

C − NH2

90.  

Product (P) is :

https://dl.doubtnut.com/l/_gVsJHF00Rhpm
https://dl.doubtnut.com/l/_1w3KjTRCGJij
https://dl.doubtnut.com/l/_LcYBPl3AHWet


A. Hemiacetal

B. Acetal

C. Alcohol

D. Alkane

Answer: B

Watch Video Solution

91.  

Product of rearrangement is :

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_LcYBPl3AHWet
https://dl.doubtnut.com/l/_n1uTHoUr0dnN


Watch Video Solution

92.  

The correct order of decreasing value of  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Keq

a > b > c > d

d > a > b > c

d > b > a > c

d > a > c > d

93. Product (B) of the given reactions is : 

A. 

https://dl.doubtnut.com/l/_n1uTHoUr0dnN
https://dl.doubtnut.com/l/_ao2IWxnbI6ZJ
https://dl.doubtnut.com/l/_yDT7leQA50ZO


B. 

C. 

D. 

Answer: B

Watch Video Solution

94. End product (C) of the reaction is : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yDT7leQA50ZO
https://dl.doubtnut.com/l/_TgyguwoqXT1b


95.  

Compound (A) will be :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ph − C ≡ C − C ≡ C − CHO

Ph − C ≡ C − CH = CH − CHO

Ph − CH = CH − C ≡ C − CHO

Ph − CH = CH − C = CH − CO2H

96. Match the following columns

A. 

B. 

C. 

https://dl.doubtnut.com/l/_TgyguwoqXT1b
https://dl.doubtnut.com/l/_jcquK7wZODsZ
https://dl.doubtnut.com/l/_9DeIOyZa5LL8


D. 

Answer: C

Watch Video Solution

97. Which pair of reactants compounds may be used to make given

acetal? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9DeIOyZa5LL8
https://dl.doubtnut.com/l/_dd9B1fhJodJ5
https://dl.doubtnut.com/l/_MEFlk1hy9MCG


98.  

(A) & (B) are isomers , Isomer (B) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

99.  

(A) and (B) is differentiated by :

A. NaH

B. 2-4 DNA

C. Tollen's reagent

https://dl.doubtnut.com/l/_MEFlk1hy9MCG
https://dl.doubtnut.com/l/_D5BkjPeIaejA


D. 

Answer: C

Watch Video Solution

NaHSO3

100. Which of the following pairs cannot be differentiated by Tollen's

reagent ?

A. Benzaldehyde and benzyl alcohol

B. Hexanal and 2-hexanone

C. 2-Hexanol and 2-hexanone

D. Pentanal and diethyl ether

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_D5BkjPeIaejA
https://dl.doubtnut.com/l/_xR0tSmv3sM5F


101. An optically active compound  gives positive test with 2, 4-

dinitrophenyl hydrazine , but negative with Tollen's reagent , what is the

structure of the compound?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H12O

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH2 − CH3

H −

O

∣ ∣

C − CH
∣

CH3

− CH2 − CH2 − CH3

CH3 −

O

∣ ∣

C − CH
∣

CH3

− CH2 − CH3

CH3 − CH2 −

O

∣ ∣

C − CH
∣

CH3

− CH3

102. Compound (A)  , when treated with  in aqueous sodium

hydroxide gives yellow precipitate. When A is treated with Tollens reagent

C6H12O3 I2

https://dl.doubtnut.com/l/_Lw30laSHyvxu
https://dl.doubtnut.com/l/_wGU1pQjEINUT


no reaction occur . When A is hydrolysed and then treated with Tollens

reagent , a silver mirror is formed in test tube . Compound (A) will be :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH
∣

OCH3

− OH

CH3 −

O

∣ ∣

C −

OCH3

∣

C
∣

OCH3

− CH3

CH3 −

O

∣ ∣

C − CH2 − CH(OCH3)2

H −

O

∣ ∣

C − CH2 − CH2 − CH(OCH3)2

103. ,

Product (C) obtained is :

A. 

CH2 − CH2 − CO2H

∣

CH2 − CH2 − CO2H

Δ
−−−−−−→

BaCO3

A
NH2 −NH2

−−−−−−→ B
heat

−−−−−→
KOH

(C)

CH3 − CH = CH − CH2

https://dl.doubtnut.com/l/_wGU1pQjEINUT
https://dl.doubtnut.com/l/_2SnVmxgG5L3S


B. 

C. 

D. 

Answer: C

Watch Video Solution

104. Which of following does not react with  (sodium

bisulphite)?

A. 

B. 

C. 

D. 

Answer: C

NaHSO3

CH3 −

O

∣ ∣

C − H

CH3 −

O

∣ ∣

C − Et

Et −

O

∣ ∣

C − Et

Ph − CH2 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_2SnVmxgG5L3S
https://dl.doubtnut.com/l/_feodKslC24YM


Watch Video Solution

105.  

Product (A) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

106.  

Product (A) is :

A. 

https://dl.doubtnut.com/l/_feodKslC24YM
https://dl.doubtnut.com/l/_l3KeMuA8cwE9
https://dl.doubtnut.com/l/_rDzs6KfPrG8o


B. 

C. 

D. 

Answer: B

Watch Video Solution

107.  

Product (B) in this reaction is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rDzs6KfPrG8o
https://dl.doubtnut.com/l/_50uIuSbkoezf


108.  

Arrange the following reagent in the correct order in which above

transformation is carried out :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KOD/D2O, H + /Δ, LiAlH4

H + /Δ, KOD/D2O, LiAlH4

KOD/D2O, LiAlH4, H + /Δ

LiAlH4, H + /Δ, KOD/D2O

109. 

+ (E)` 

CH3 −

O

∣ ∣

C − H
HCN

−−→ (A)
H3O

⊕

−−−→ (B) −−→
Δ

(C)
LiAlH4

−−−→ (D)
HIO4

−−→ HCHO

https://dl.doubtnut.com/l/_50uIuSbkoezf
https://dl.doubtnut.com/l/_25a5sPYWymn5
https://dl.doubtnut.com/l/_dwI2wfmh7Nkt


Compound (C) can show geometrical isomerism . Product (E) of the

reaction will be :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 −

O

∣ ∣

C − CH3

CH3 − CH2 −

O

∣ ∣

C − H

CH3 − CHO

HCHO

110. Arrange in their increasing order of equilibrium constants for

hydration ? 

A. 

B. 

A < B < C < D < E

A < C < B < E < D

https://dl.doubtnut.com/l/_dwI2wfmh7Nkt
https://dl.doubtnut.com/l/_0KFw8CarhKqt


C. 

D. 

Answer: B

Watch Video Solution

A < C < E < B < D

C < A < B < E < D

111. End product of the following sequence of reactions are : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0KFw8CarhKqt
https://dl.doubtnut.com/l/_2GS39rZBjjyI
https://dl.doubtnut.com/l/_eGcT1oWpQpy7


112.  , Product (P) of the reaction

will be :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph − CH2 − CN
( 1 )EtONa

−−−−−−−−−−−−−→

( 2 )CH3 −

O

∣ ∣

C −Cl

( 3 )H3O
⊕ / Δ

(P )

Ph − CH2 −

O

∣ ∣

C − H

Ph − CH2 −

O

∣ ∣

C − CH3

Ph − CH
∣

CH3

−

O

∣ ∣

C − H

Ph − CH
∣

CH3

−

O

∣ ∣

C − CH3

113.  

Products of the reaction are :

A. Racemic mixture

https://dl.doubtnut.com/l/_eGcT1oWpQpy7
https://dl.doubtnut.com/l/_ArLatbJDDqe7


B. Diastereomers

C. Meso

D. Mixture of meso compound and optically active compound

Answer: B

Watch Video Solution

114.  


 reactant (A) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(A)
HgSO4

−−−−−−→
dil.H2SO4

(B)
LiAlH4

−−−→ (C)
recemic mixture

∴

CH3 − C ≡ CH

HC ≡ CH

CH3 − C ≡ C − CH3

Ph − CH = CH2

https://dl.doubtnut.com/l/_ArLatbJDDqe7
https://dl.doubtnut.com/l/_YcDUoHi2lT62


115.  , Major product of this reaction is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2 −

O

∣ ∣

C − CH3
NaNO2

−−−−−→
HCl

CH3CH
∣

NO

−

O

∣ ∣

C − CH3

CH3 − CH2 −

O

∣ ∣

C − CH = N − OH

                  O

                  ∣∣

CH3 − C − C − CH3

          ∣∣

         N − OH

CH3 − CH2 − C − CH3

                       ∣∣

                      N − OH

116.  

Product (A) & (B) are :

https://dl.doubtnut.com/l/_YcDUoHi2lT62
https://dl.doubtnut.com/l/_Vhyn3H4yzySZ
https://dl.doubtnut.com/l/_lgVw1dVttHbl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

117.  

Product (B) is :

A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_lgVw1dVttHbl
https://dl.doubtnut.com/l/_JFt6rYpt9HGw


Watch Video Solution

118.  

Product (A) is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

119.  

Product (A) is :

A. 

https://dl.doubtnut.com/l/_JFt6rYpt9HGw
https://dl.doubtnut.com/l/_qUnaQLrRvOAx
https://dl.doubtnut.com/l/_WVHzKj8gCif5


B. 

C. 

D. 

Answer: B

Watch Video Solution

120.  


Which of the following can be used as a catalyst in the above reaction ?

A. 

B. 

C. 

D. 

Answer: C

R −

O

∣ ∣

C − R
HCN

⇐=====⇒
( catalyst )

R −

OH

∣

C
∣
CN

− R

Cl−

CH3 −

O

∣ ∣

C − O−

Et − O−

HSO−
4

https://dl.doubtnut.com/l/_WVHzKj8gCif5
https://dl.doubtnut.com/l/_VjrRdsHRZ74I


Watch Video Solution

121. Arrange in following carbonyl compounds in decreasing order of their

reactivity in nucleophilic addition reaciton . 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ii > iii > i > iv

ii > i > iv > iii

iii > ii > i > iv

iii > i > iv > ii

122. The following reaction were carried out . 

 

The final product formed in the above reaction sequence is :

https://dl.doubtnut.com/l/_VjrRdsHRZ74I
https://dl.doubtnut.com/l/_2harQtmE5Gdr
https://dl.doubtnut.com/l/_b3MXjf4TdKdH


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

123.  

Yield of each step as actually carried out in the laboratory is given above .

What is overall yield of reaction ?

A. 

B. 

C. 

D. 

42 %

31 %

21 %

60 %

https://dl.doubtnut.com/l/_b3MXjf4TdKdH
https://dl.doubtnut.com/l/_qppg8MJzbAAH


Answer: C

Watch Video Solution

124.  

Product (E) is :

A. Nylon 66

B. Nylon 6

C. Styrene

D. Polystyrene

Answer: B

Watch Video Solution

125. Methyl ketone on reaction with  gives a major product ,

whose structure is :

LiCuMe2

https://dl.doubtnut.com/l/_qppg8MJzbAAH
https://dl.doubtnut.com/l/_krQZ10akOicE
https://dl.doubtnut.com/l/_g94r6DY6BgVz


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

126. Which of following is in capable to show iodoform test ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ph − CH = CH −

OH

∣

CH − CH3

https://dl.doubtnut.com/l/_g94r6DY6BgVz
https://dl.doubtnut.com/l/_lkFvxpA5UC5a


Watch Video Solution

127. 

Product (B) of above reaction is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 − CH2 −

O

∣ ∣

C − CH3

(NH4 ) 2CO3

−−−−−−−→
Δ

(A)
CCl3CO2Na
−−−−−−→

Δ
(B)

( major )

128.  

Product obtained is :

https://dl.doubtnut.com/l/_lkFvxpA5UC5a
https://dl.doubtnut.com/l/_t4LHBrFCoHx2
https://dl.doubtnut.com/l/_i7Gcx0u52VQf


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

129.  Diastereomers 

Reactent (A) is :

A. 

B. 

C. 

D. 

(A)
Symmetrical

Ketone

LiAlH4

−−−→ (B)
H ⊕

−−−−−→
Δ

CH3 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 − CH3

CH3 − CH2 −

O

∣ ∣

C − CH2 − CH3

CH3 − CH2 − CH2 = O

https://dl.doubtnut.com/l/_i7Gcx0u52VQf
https://dl.doubtnut.com/l/_odlO4JtbjxCg


Answer: C

Watch Video Solution

130.  

Value of x in above reaction is :

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

131.  

Molecular weight of compound (A) is :

https://dl.doubtnut.com/l/_odlO4JtbjxCg
https://dl.doubtnut.com/l/_t0bGkNJDXmGe
https://dl.doubtnut.com/l/_viiOXuIghfII


A. 58

B. 120

C. 60

D. 182

Answer: A

Watch Video Solution

132.  


Product (A) of above reaction will be :

A. 

B. 

C. 

D. 

Ph2CH −

O

∣ ∣

C − H
aqueous acid

−−−−−−→ (A)
81 %

+ enol
2 %

+ aldehyde
17 %

Ph − C
∣
Ph

= CH − O

Ph2Ch −

OH

∣

CH2

Ph2CH −

OH

∣

CH − OH

Ph2CH −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_viiOXuIghfII
https://dl.doubtnut.com/l/_Tr6oy6BYV00h


Answer: C

Watch Video Solution

133. Which of the following will form stable hydrate ?

A.  (Chloral)

B. 

C. 

D. all of these

Answer: D

Watch Video Solution

Cl3CHO

(CF3)2CO

134. The pH at which maximum hydrate is present in an solution of

oxaloacetic acid : 

https://dl.doubtnut.com/l/_Tr6oy6BYV00h
https://dl.doubtnut.com/l/_I35p3MTofh1r
https://dl.doubtnut.com/l/_Uumr8lMOVwH1


 


A. pH = 0

B. pH= 12

C. pH = 4

D. pH = 6

Answer: A

Watch Video Solution

H − O −

O

∣ ∣

C −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − O − H

pKa = 2.2       pKa = 3.98

135. Arrange their stabilities of given gem-diols in decreasing order . 

A. 

B. 

C. 

I > II > III

III > II > I

I > III > II

https://dl.doubtnut.com/l/_Uumr8lMOVwH1
https://dl.doubtnut.com/l/_DJsOeR2ysn7O


D. 

Answer: A

Watch Video Solution

III > I > II

136. Maximum hydration takes place of :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CF3

O

∣ ∣

CCF3

CH3

O

∣ ∣

CCH3

CH3CH
∣
Cl

−

O

∣ ∣

CCH3

C6H5

O

∣ ∣

CC6H5

https://dl.doubtnut.com/l/_DJsOeR2ysn7O
https://dl.doubtnut.com/l/_md5O3UDMSBiz


137. The conversion  , can be achieved most

conveniently by reaction with :

A.  followed by hydrolysis

B. 

C. dil.  followed by reaction with 

D. LAH followed by reaction with 

Answer: A

Watch Video Solution

PhCN → PhCOCH3

CH3MgBr

I2 − NaOH, CH3I

H2SO4 CH2N2

CH3I

138.  

In the above reaction , product (B) is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_36FS7m4MuTzL
https://dl.doubtnut.com/l/_F8W9d0obYjWS


D. 

Answer: B

Watch Video Solution

139.  

Structure of A is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_F8W9d0obYjWS
https://dl.doubtnut.com/l/_NjZntxp31QkS


140.  

Product (B) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph − NH −

O

∣ ∣

C − CO2H

Ph − NH −

O

∣ ∣

C − CH2 − CO2H

141.  

To carry out above conversion , arrange the following reagents in correct

order . 

O3 /ZN
( 1 )

   EtONa/EtOH /Δ
( 2 )

  NaOCl
( 3 )

  H +

( 4 )

https://dl.doubtnut.com/l/_ZUBPceODH8EC
https://dl.doubtnut.com/l/_3LGcmAyoj0vX


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 → 3 → 2 → 4

1 → 2 → 4 → 3

1 → 3 → 4 → 2

1 → 2 → 3 → 4

142. 

Product (B) is :

A. 

B. 

C. 

                                             HOCH2

                                                  ∣

H2C = CH − CH2 − CH2 − C − OH

                                                 ∣

                                                CH2 − CH3

CH3 −

O

∣ ∣

C −CH3
−−−−−−−−−−−→

TsOH
(A)

O3
−−−−−−−→

(CH3 ) 2S

https://dl.doubtnut.com/l/_3LGcmAyoj0vX
https://dl.doubtnut.com/l/_xQVKkjngvz2d


D. 

Answer: A

Watch Video Solution

143.  

Identify appropriate reagents for the above reaction :

A. a = 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Br2 /CCl4,    (b) = aq. KOH

a = Br2 /H + ,   b = aq. KOH

a = Br2 /H + ,    b = alc. KOH

a = Br2 /HO− ,    b = aq. KOH

https://dl.doubtnut.com/l/_xQVKkjngvz2d
https://dl.doubtnut.com/l/_NxsbP12k7BEF


144.  

Product (X) of this reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

145. The  values in HCN addition to following aldehydes are in the

order : 

A. 

B. 

Keq

I > II > III

II > III > I

https://dl.doubtnut.com/l/_9O7UwCV0zZz6
https://dl.doubtnut.com/l/_16iS8tmrv7F9


C. 

D. 

Answer: D

Watch Video Solution

III > I > II

II > I > III

146.  

elation between  and  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K1 K2

K1 = K2

K1 > K2

K2 > K1

K1 = K2 = 1

https://dl.doubtnut.com/l/_16iS8tmrv7F9
https://dl.doubtnut.com/l/_LbOHy8t8V2cl
https://dl.doubtnut.com/l/_KVw8RYoS2SbF


147. Which of the following is correct for the reaction ? 

A. A is cyanohydrin

B. Nucleophilic- addition reaction

C. The above reaction is not shown by alkenes

D. all of these

Answer: D

Watch Video Solution

148. Which of the following compounds(  through v) should not be

classified as an acetal ? 

A. ii and iii

B. iv

i

https://dl.doubtnut.com/l/_KVw8RYoS2SbF
https://dl.doubtnut.com/l/_mCPlUMlgzrD5


C. i

D. none (they are all acetals )

Answer: D

Watch Video Solution

149. In which of reactions final product is NOT a ketone :

A. 

B. 

C. 

D. 1-butyne 

Answer: C

Watch Video Solution

CH3 − C ≡ C − H
NaNH2

−−−−→ (A)
CH3 −I

−−−−→ (B)
HgSO4

−−−−−−→
H2SO4

(C)

H − C ≡ C − H
NaNH2

−−−−→ (C)
CH3 −CH2 −I

−−−−−−−−→ (D)
Hg (OAc ) 2 ,H2O

−−−−−−−−−−−→
NaBH4 ,H −

(E)

R −

O

∣ ∣

C − OH
NaOH

−−−→ (A)
CH3 −I

−−−−→ (B)

NaNH2

−−−−→ (A)
CH3 −I

−−−−→ (B)

( 1 )BH3 .THF

( 2 )H2O2 /HOΘ

−−−−−−−−−−−−→ (C)

https://dl.doubtnut.com/l/_mCPlUMlgzrD5
https://dl.doubtnut.com/l/_uFN9HzOno88S


150. The reaction of ethyl methyl ketone with  gives the

following major product

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl2 /excessOH −

ClCH2CH2COCH3

CH3CH2COCCl3

ClCH2CH2COCH2Cl

CH3CCl2COCH2Cl

151. The product obtained from the following sequence of reactions is 

A. propanol

B. 2-propanol

CH3 − C ≡ CH
HgSO4

−−−−−−→
H2SO4

A
NaBH4

−−−→ (B)

https://dl.doubtnut.com/l/_uFN9HzOno88S
https://dl.doubtnut.com/l/_cFgdyzImyjnS
https://dl.doubtnut.com/l/_ihgsHMFeD1J8


C. 1-propanol

D. propanhe

Answer: B

Watch Video Solution

152. Which of the following shows oxidation of reactant . 

A. 1

B. 1,2

C. 1,2,3

D. All of above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ihgsHMFeD1J8
https://dl.doubtnut.com/l/_zbn5Te3Gv3vo
https://dl.doubtnut.com/l/_AWNajWc1mxir


153. The enolate ion that reacts with 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

154. 

 


What is the final product T.

A. 

CH3 −

O

∣ ∣

C − CH3
NaNH2

−−−−→ P
HC≡CH

−−−−−→ Q
H3O

⊕

−−−→ R
1H2 /Pd

−−−−→ S
Al2O3

−−−−−→
D

T

H3C − C
∣

CH3

= C −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_AWNajWc1mxir
https://dl.doubtnut.com/l/_pSlrOBvUn5Bg


B. 

C. 

D. 

Answer: D

Watch Video Solution

        OH

           ∣

CH3 − C − CH3

           ∣

H2C = CH

CH3 −

CH3

∣

C − CH − CH3

CH3 =

CH3

∣

C − CH = CH2

155. Select the best choice for example (A to L) from the examples (a to n )

given below . Write your choice in the box given . 

 

Watch Video Solution

https://dl.doubtnut.com/l/_pSlrOBvUn5Bg
https://dl.doubtnut.com/l/_qUUZflQSGUan


156. The following questions refer to the compounds (A to G) shown

below : 

Watch Video Solution

157. Match the column : 

Watch Video Solution

158. Complete the following table. 

Watch Video Solution

https://dl.doubtnut.com/l/_quGeN4gLkKTs
https://dl.doubtnut.com/l/_YcwCLIgRBxGK
https://dl.doubtnut.com/l/_PFJgbMsodVis


159. Consider the following reactions and answer A and B . 

 

Suggest a reagent appropriate step(a) the synthesis .

A.  (1 mole)

B.  (1 mole )

C. both (a) and (b)

D. None of these

Answer: b

Watch Video Solution

HO− /Br2

H + /Br2

160. Consider the following reactions and answer A and B . 

 

Yield of each step as actually carried out in laboratory is given above each

arrow . What is overall yield of the reaction ?

https://dl.doubtnut.com/l/_Va4xdKi0v2VC
https://dl.doubtnut.com/l/_FN6EYqlRVqC2


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

60 %

21 %

40 %

68 %

161.  

Degree of unsaturation present in compound (A + B + C) is ?

Watch Video Solution

162. Within each set , which compound should be more reactive toward

carbonyl addition reaction ? 

 

https://dl.doubtnut.com/l/_FN6EYqlRVqC2
https://dl.doubtnut.com/l/_4gyGuO7GSndt
https://dl.doubtnut.com/l/_xz71ui64L1yN


Watch Video Solution

163. Match the Column (I) and Column (II) , (Matrix ) 

 

Watch Video Solution

164. Consider reactions A through F . Those carbon atoms undergoing

change , as part of a functional group , are marked as  or starred

. In the cases shown , each carbon atom has either been reduced or

oxidized . Your job is to identify the change in oxidation state that has

occured for each of the marked carbon . 

Watch Video Solution

C 12, C 14

https://dl.doubtnut.com/l/_xz71ui64L1yN
https://dl.doubtnut.com/l/_hXAnKYRIffsQ
https://dl.doubtnut.com/l/_Cusadj6vNAf8


165. Wittig reaction : 

The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the bond . 

 


Mechanism : 

 

Driving force of the reaction is high blood energy of

 

 

Major product (A) is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

R −

O

∣ ∣

C − R + Ph3P = CH2 → R −

CH2

∣ ∣

C − R + Ph3P = O

(P = O). ΔH = − ve)

https://dl.doubtnut.com/l/_4FywJAVHDb4X


166. Match the column : 

Watch Video Solution

167. (A)  


Reactant (A) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HgSO4

−−−−−−−→
dil.H2SO4

(B)
( 1 )NaBH4

−−−−−−−−−→
( 2 )H ⊕ / Δ

CH3 − C − CH2 − CH3

          ∣∣

          CH − CH3

CH3 − C ≡ C − CH
∣

CH3

− CH3

HC ≡ C − C − C − C

                          ∣

                         C − C

CH3 − CH − C ≡ CH

            ∣

           CH2 − CH3

CH3 − C ≡ C − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_4FywJAVHDb4X
https://dl.doubtnut.com/l/_NgBbqaJFj7AV
https://dl.doubtnut.com/l/_KEQHchoGuOjP


Level 1 Q 121 To Q 150

Level 2

1.  

What is appropriate reagent to carry out above synthesis ,i.e., A , B , C

respectively are :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Br2 /H + , LiAlH4, H ⊕

Br2 /H ⊕ , NaBH4, HO−

NBS, AlCl3, HO−

Br2 /HO− , BF3, HO−

https://dl.doubtnut.com/l/_KEQHchoGuOjP
https://dl.doubtnut.com/l/_rnkJTZDMApT0
https://dl.doubtnut.com/l/_LD6oCXw1269j


1. Consider the possible formation of an aldehyde or ketone product

when each of the ten compounds in the column on the left is treated

with each of the reagents shown in the top row . Check the designated

answer box if you believe an aldehyde or ketone will be formed . 

Assume that the reagents may be present in excess . For each checked

reaction , try to draw the structure of the major product (s) . 

View Text Solution

2. Wittig reaction : 

The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the bond . 

 


Mechanism : 

 

Driving force of the reaction is high blood energy of

 

R −

O

∣ ∣

C − R + Ph3P = CH2 → R −

CH2

∣ ∣

C − R + Ph3P = O

(P = O). ΔH = − ve)

https://dl.doubtnut.com/l/_LD6oCXw1269j
https://dl.doubtnut.com/l/_FbXfzh8R8xSa


 , Major

product (A) is :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH2 − CH2 −
⊕
PPh3

Ph−Li
−−−−−−→

Δ
(A)

3. Wittig reaction : 

The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the bond . 

 


Mechanism : 

 

R −

O

∣ ∣

C − R + Ph3P = CH2 → R −

CH2

∣ ∣

C − R + Ph3P = O

https://dl.doubtnut.com/l/_FbXfzh8R8xSa
https://dl.doubtnut.com/l/_eAChou0bZddm


Driving force of the reaction is high blood energy of

 

 

Major product (A) is :

A. cis-2 butene

B. trans-2 butene

C. iso-butene

D. 1-butene

Answer: B

View Text Solution

(P = O). ΔH = − ve)

4. Wittig reaction : 

The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the bond . 

 
R −

O

∣ ∣

C − R + Ph3P = CH2 → R −

CH2

∣ ∣

C − R + Ph3P = O

https://dl.doubtnut.com/l/_eAChou0bZddm
https://dl.doubtnut.com/l/_gvJvkodMgUsv


Mechanism : 

 

Driving force of the reaction is high blood energy of




(cyclic). Product

(A) is :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(P = O). ΔH = − ve)

CH3 −

O

∣ ∣

C − (CH2)3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

P (OEt)2

NaH
−−→ (A)

5. Wittig reaction : 

The reaction of a phosphorus ylide with an aldehyde (or) ketone

https://dl.doubtnut.com/l/_gvJvkodMgUsv
https://dl.doubtnut.com/l/_EYGVgwtWxHGV


introduces a carbon-carbon double bond is place of the bond . 

 


Mechanism : 

 

Driving force of the reaction is high blood energy of

 


 

Product (A) and (B) respectively are :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

R −

O

∣ ∣

C − R + Ph3P = CH2 → R −

CH2

∣ ∣

C − R + Ph3P = O

(P = O). ΔH = − ve)

https://dl.doubtnut.com/l/_EYGVgwtWxHGV


6. Wittig reaction : 

The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the bond . 

 


Mechanism : 

 

Driving force of the reaction is high blood energy of

 

 

product (A) is :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

R −

O

∣ ∣

C − R + Ph3P = CH2 → R −

CH2

∣ ∣

C − R + Ph3P = O

(P = O). ΔH = − ve)

https://dl.doubtnut.com/l/_0M8bKaRTeUcr


Solved Problem

7. (A)  


Product (B) is :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

HgSO4

−−−−−−−→
dil.H2SO4

(B)
( 1 )NaBH4

−−−−−−−−−→
( 2 )H ⊕ / Δ

CH3 − C − CH2 − CH3

          ∣∣

          CH − CH3

1. Write bond-line structures for the keto and enol forms of 3-pentanone.

View Text Solution

https://dl.doubtnut.com/l/_0M8bKaRTeUcr
https://dl.doubtnut.com/l/_A7ICkW6l5nK5
https://dl.doubtnut.com/l/_EnCtNWzlRWDr


2. Treating racemic 2-methyl-phenylbutan-1-one with NaOD in the

presence of  produces a deuterium-labeled compound as a racemic

form. Write a mechanism that explains this result. 

View Text Solution

D2O

3. The carbon-carbon bond cleavage step in a retro-aldol reaction

involves, under basic conditions, a leaving group that is an enolate, or

under acidic conditions, an enol. Write a mechanism for the retro-aldol

reaction of 4-hydroxy-4-methyl 2-pentanone under basic conditions

(shown above).

View Text Solution

https://dl.doubtnut.com/l/_EnCtNWzlRWDr
https://dl.doubtnut.com/l/_BNQwuZqnwSrj
https://dl.doubtnut.com/l/_RdrxeNBo6A7y


4. One industrial processs for the synthesis of 1-butanol begins with

ethanol. Show how this synthesis might be carried out.

View Text Solution

5. Show how each of the four products shown at the beginning of this

section is formed in the crossed aldol addition between ethanol and

propanal.

View Text Solution

6. outlined below is a practical crossed aldol reaction that can be used for

the synthesis of cinnamaldehyde (the essence of cinnamon, used in

cooking ). Provide the missing ingredients for this recipe. 

View Text Solution

https://dl.doubtnut.com/l/_DXwkF43cYYoR
https://dl.doubtnut.com/l/_uU4Ut0wEovA2
https://dl.doubtnut.com/l/_8vnPBlpVfndb


Additional Objective Questions Single Correct Choice Type

1. Mixed aldol reactions require

A. only one of the reactants to be able to form an enolate.

B. one of the reactants to be more reactive towards the nucleophile.

C. much stronger bases.

D. (b) and (c ).

Answer: D

View Text Solution

2. If formaldehyde and potassium hydroxide are heated, then we get

A. acetylene.

B. methane

C. methyl alcohol

https://dl.doubtnut.com/l/_G9rMixCjMSGz
https://dl.doubtnut.com/l/_sPYfV4isGa6z


D. ethyl formate.

Answer: C

View Text Solution

3. Cyclohexane on ozonolysis followed by reaction with zinc dust and

water gives compound E, on further treatment with aqueous KOH

followed by heating yields compound F. The compound F is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_sPYfV4isGa6z
https://dl.doubtnut.com/l/_Pyafn0cZzWxC
https://dl.doubtnut.com/l/_ldqGRhm6YH6I


4. In Cannizzaro reaction given below, the slowest step is 

A. the abstraction of proton from the carboxylic group.

B. the deprotonation of .

C. the attack of  at the carboxyl group.

D. the transfer of hydride to the carbonyl group.

Answer: D

View Text Solution

2PhCHO
OH −

−−→ PhCH2OH + PhCO−
2

PhCH2OH

OH −

5. Which of the following compounds give  as a product when

treated with  in presence of NaOH ?

A. 

B. 

C. 

14CHI3

I2

https://dl.doubtnut.com/l/_ldqGRhm6YH6I
https://dl.doubtnut.com/l/_0j083QIRlNDn


D. all of these

Answer: C

View Text Solution

6. What compounds results from the aldol cyclization of 

 ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CH3

O

||

CCH2CH2 C
∣

CH3

HCH2

O

||

CCH3

https://dl.doubtnut.com/l/_0j083QIRlNDn
https://dl.doubtnut.com/l/_lDFo8lysNUyF


7. The Cannizzaro reaction is not given by

A. trimethyl acetaldehyde

B. acetaldehyde

C. benzaldehyde.

D. fromaldehyde.

Answer: B

View Text Solution

8. Benzyl alcohol is obtained from benzaldehyde by

A. Fittig.s reaction

B. Cannizaro.s reaction.

C. Kolbe.s reaction

D. Wurtz.s reaction.

https://dl.doubtnut.com/l/_YCvm5VmwXV6C
https://dl.doubtnut.com/l/_uibrienOCGtN


Answer: B

View Text Solution

9. A mixture of benzaldehyde and formaldehyde on heating with aqueous

NaOH solution gives

A. benzyl alcohol and sodium formate.

B. sodium benzoate and methyl alcohol.

C. sodium benzoate and sodium formate.

D. benzyl alcohol and methyl alcohol.

Answer: A

View Text Solution

10. Which reagents would you see to synthesize this compound by an

aldol condensation ? 

https://dl.doubtnut.com/l/_uibrienOCGtN
https://dl.doubtnut.com/l/_uTxlD8AGDAQV
https://dl.doubtnut.com/l/_M0ld7EjUQ4Ya


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C6H5CH = Ch

O

||

C6H5

C6H5

O

||

CH and C6H5CH2

O

||

CH

C6H5CH2

O

||

CH and C6H5CH2

O

||

CCH3

C6H5CH = CH

O

||

CH and C6H5OH

C6H5

O

||

CH3 and C6H5

O

||

CH

11. Which of these in not among the reaction products when a crossed

aldol addition occurs between ethanol and butanal ?

A. 

B. 

CH3

OH

∣

CHCH2

H

∣

C = O

CH3CH2CH2

OH

∣

CH C
∣

CH3

HCH2

H

∣

C = O

https://dl.doubtnut.com/l/_M0ld7EjUQ4Ya
https://dl.doubtnut.com/l/_LOFjE0ErTHBq


C. 

D. 

Answer: B

View Text Solution

CH3

OH

∣

CHCHCH
∣

CH2CH3

H

∣

C = O

CH3CH2CH2

OH

∣

CHCH2CH2

H

∣

C = O

12. Acid catalyzed aldol condensation involves

A. carbanion.

B. enolate ion.

C. enol.

D. both (a) and (b)

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_LOFjE0ErTHBq
https://dl.doubtnut.com/l/_0M7P85igOrbB
https://dl.doubtnut.com/l/_ZujOOo28RcDr


Additional Objective Questions Linked Comprehension Type

13. Which is the only of these compounds which cannot self-condense in

the presence of dilute aqueous alkali ?

A. Phenylethanal

B. Propanal

C. 3-Methylpentanal

D. 2,2-Dimethylpropanal

Answer: D

View Text Solution

1. A carbonyl compound P,which gives positive iodoform test, undergoes

reaction with MemgBr followed by dehydration to give an Olefin Q.

Ozonolysis of Q leads to a dicarbonyl compound R, which undergoes

https://dl.doubtnut.com/l/_ZujOOo28RcDr
https://dl.doubtnut.com/l/_mYywhtuNMPPt


intramolecular aldol reaction to give predominantly S. 

The structure of the carbonyl compound P is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2. A carbonyl compound P,which gives positive iodoform test, undergoes

reaction with MemgBr followed by dehydration to give an Olefin Q.

Ozonolysis of Q leads to a dicarbonyl compound R, which undergoes

intramolecular aldol reaction to give predominantly S. 

The structure of the products Q and R, respectively, are

A. 

https://dl.doubtnut.com/l/_mYywhtuNMPPt
https://dl.doubtnut.com/l/_tEHshynCi7h1


B. 

C. 

D. 

Answer: A

View Text Solution

3. A carbonyl compound P,which gives positive iodoform test, undergoes

reaction with MemgBr followed by dehydration to give an Olefin Q.

Ozonolysis of Q leads to a dicarbonyl compound R, which undergoes

intramolecular aldol reaction to give predominantly S. 

The structure of the product S is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_tEHshynCi7h1
https://dl.doubtnut.com/l/_BXGxm7C233nf


Answer: B

View Text Solution

4. An organic compound A  decolarizes bromine water, and on

reductive ozonolysis produces two molecules of B . Compound

B on aldol condensation followed by dehydration of product gives C

, which on reduction with  regenerates A.

COmpound B on reduction with Zn(Hg)HCl produces D , which on

monochlorination gives E  as the sole product. 

Structure of compound is

A. 

B. 

C. 

D. 

Answer: D

i l i

(C12H20)

(C6H10O)

(C12H18O) N2H4 /OH2

(C6H12)

(C6H11Cl)

https://dl.doubtnut.com/l/_BXGxm7C233nf
https://dl.doubtnut.com/l/_TM8Dkx3N55RK


View Text Solution

5. An organic compound A  decolarizes bromine water, and on

reductive ozonolysis produces two molecules of B . Compound

B on aldol condensation followed by dehydration of product gives C

, which on reduction with  regenerates A.

COmpound B on reduction with Zn(Hg)HCl produces D , which on

monochlorination gives E  as the sole product. 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(C12H20)

(C6H10O)

(C12H18O) N2H4 /OH2

(C6H12)

(C6H11Cl)

https://dl.doubtnut.com/l/_TM8Dkx3N55RK
https://dl.doubtnut.com/l/_Ak26k21ZuJyK


Solved Problems

6. An organic compound A  decolarizes bromine water, and on

reductive ozonolysis produces two molecules of B . Compound

B on aldol condensation followed by dehydration of product gives C

, which on reduction with  regenerates A.

COmpound B on reduction with Zn(Hg)HCl produces D , which on

monochlorination gives E  as the sole product. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(C12H20)

(C6H10O)

(C12H18O) N2H4 /OH2

(C6H12)

(C6H11Cl)

https://dl.doubtnut.com/l/_sh4HOaemghiS


1. Write bond - line formulas for three isomeric compounds that contain a

carbonyl group and have the molecular formula . Then give their

IUPAC names .

View Text Solution

C4H8O

2. Provide the reagents for transformations (1),(2), and (3) . 

View Text Solution

3. What is the product of the following reaction ? 

View Text Solution

4. Starting with benzyl alcohol , outline a synthesis of phenylethanal. 

https://dl.doubtnut.com/l/_lAUeAKcrGpiF
https://dl.doubtnut.com/l/_8G9413seOfqT
https://dl.doubtnut.com/l/_XON8WM0SUORe
https://dl.doubtnut.com/l/_XQqz8osxoFgz


View Text Solution

5. With 1- butanol as your only organic starting compound, devise a

synthesis of 5-nonanone. Begin by writing a restrosynthetic analysis.

View Text Solution

6. Provide the missing reagents and intermediate in the following

synthesis. 

View Text Solution

7. Synthesize 2-methyl-1-phenylprop-1-ene using a Witting reaction. Begin

by writing a tetrosynthetic analysis.

View Text Solution

https://dl.doubtnut.com/l/_XQqz8osxoFgz
https://dl.doubtnut.com/l/_aQgu25wRFyeQ
https://dl.doubtnut.com/l/_upJlLTLrA1yb
https://dl.doubtnut.com/l/_24k05ZtNRm8q
https://dl.doubtnut.com/l/_J5MREDp3UjfT


8. Suggest a sequence of reaction to carry out the following

transformation , but one intemediate must be an alkene. 

View Text Solution

9. Provide the organic product(s) for the following reactions . If more than

one product is formed, indicate which product (if any ) is the major one. If

no reaction occurs , write " NR". (Hint: Almost any time you are asked to

provide a reaction product , you should also be able to write the

mechanism for the reaction as well. If you do not know the product , then

trying to figure out the mechanism will guide you in the right direction. )

View Text Solution

10.  

Write a mechanism for part (a).

https://dl.doubtnut.com/l/_J5MREDp3UjfT
https://dl.doubtnut.com/l/_4iZKxWOL8XfX
https://dl.doubtnut.com/l/_JORoGkSyfehF


Additional Objective Questions Single Correct Choice Type

View Text Solution

11. Consider the two Witting reactions shown below. Select the most

efficient route and provide three reasons for you choice . 

View Text Solution

1. Hydrogenation of benzoyl chloride in the presence of Pd and 

gives

A. benzyl alcohol

B. benzaldehyde

C. benzoic acid

D. phenol

BaSO4

https://dl.doubtnut.com/l/_JORoGkSyfehF
https://dl.doubtnut.com/l/_ApCsRkuVHMmj
https://dl.doubtnut.com/l/_XwdXSQjh8amB


Answer: B

View Text Solution

2. m-chlorobenzaldehyde on reaction with conc. KOH at room

temperature gives

A. potassium m-chlorobenzoate and m-hydroxybenzaldehyde.

B. m-hydroxybenzaldehyde and m-chlorobenzyl alcohol.

C. m-chlorobenzyl and m-hydroxybenzyl alcohol.

D. potassium m-chlorobenzoate and m-chlorobenzyl alcohol.

Answer: D

View Text Solution

3.  (LAH) cannot be used to convert carboxylic acids to the

corresponding aldehydes because

LiAlH4

https://dl.doubtnut.com/l/_XwdXSQjh8amB
https://dl.doubtnut.com/l/_4HxSYVtrrpRr
https://dl.doubtnut.com/l/_Jw8Fu0RZ2bnP


A. LAH is not sufficiently reactive.

B. RCOOH is converted into RCOOLi.

C. RCOOH is reduced to .

D. RCOOH is reduced to .

Answer: C

View Text Solution

RCH2OH

RCH3

4. In the Cannizzaro reaction given below

 the slowest step is

A. the attack of OH at the carbonyl group.

B. the transfer of hydride to the carbonyl group.

C. the abstraction of proton from the carboxylic acid.

D. the deprotonation of 

Answer: B

2Ph − CHO
OH −

−−→ Ph − CH2OH + PhCO−
2

Ph − CH2OH

https://dl.doubtnut.com/l/_Jw8Fu0RZ2bnP
https://dl.doubtnut.com/l/_8Szmz00vFZUq


View Text Solution

5. Arrange the given compounds in order of decreasing reactivity for

nucleophilic addition reaction. 

(i)  

(ii)  


(iii)  


(iv) 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

H3C −

O

∣ ∣

C − CH2 − Cl

Cl − CH2 − CHO

CH2O

H3C −

O

∣ ∣

C − CH3

(iv) > (iii) > (ii) > (i)

(iii) > (ii)g > (i) > (iv)

(ii) > (iv) > (iii) > (i)

(i) > (ii) > (iii) > (iv)

https://dl.doubtnut.com/l/_8Szmz00vFZUq
https://dl.doubtnut.com/l/_npG7QReNNucp
https://dl.doubtnut.com/l/_FjpTbhcO59k8


6. In a Cannizzaro reaction, the intermediate which is the best hydride

donor is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C6H5 −

H

∣

C
∣

OH

− O−

C6H5 −

H

∣

C
∣

O−

− O−

7. What carbonyl compound reacts with HCN to give the highest yield of

cyanohydrin?

A. Formaldehyde

B. Propanal

https://dl.doubtnut.com/l/_FjpTbhcO59k8
https://dl.doubtnut.com/l/_gM8CvBHqU5QT


C. 2-butanone

D. di-t-butyl ketone

Answer: A

View Text Solution

8. A mixture of benzaldehyde and formaldehyde on heating with aqueous

NaOH solution gives

A. benzyl alcohol and sodium formate.

B. sodium benzoate and methyl alcohol.

C. sodium benzoate and sodium formate.

D. benzyl alcohol and methyl alcohol.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_gM8CvBHqU5QT
https://dl.doubtnut.com/l/_4ny4jefLdWAf
https://dl.doubtnut.com/l/_fFErlIjQFold


9. Which of the following carbonyl compounds reacts with HCN to give

the lowest yield of cyanohydrin?

A. Formaldehyde

B. Propanal

C. 2-Butanone

D. di-t-butyl ketone

Answer: D

View Text Solution

10. Compound A (molecular formula ) is treated with acidified

potassium dichromate to form a product B (molecular formula ). B

forms a shining silver mirror on warming with ammonical silver nitrate. B

when treated with an aqueous solution of  and

sodium acetate gives a product C. Identify the structure of C.

A. 

C3H8O

C3H6O

H2NCONHNH2 ⋅ HCl

CH3CH2CH = NNHCONH2

https://dl.doubtnut.com/l/_fFErlIjQFold
https://dl.doubtnut.com/l/_mnQWTcBZDx9r


B. 

C. 

D. 

Answer: A

View Text Solution

CH3 − C = NN
∣

CH3

HCONH2

CH3 − C
∣

CH3

= NCONHNH2

CH3CH2CH = NCONHNH2

11. The reagent which does not react with both acetone and

benzaldehyde is

A. 

B. phenyl hydrazine .

C. Fehling solution.

D. Grignard reagent.

Answer: C

View Text Solution

NaHSO3

https://dl.doubtnut.com/l/_mnQWTcBZDx9r
https://dl.doubtnut.com/l/_1Y5K5KGG14rj


12. The formation of cyanohydrin from a ketone is an example of

A. electrophilic addition

B. nucleophilic addition

C. nucleophilic substitution

D. electrophilic substitution

Answer: B

View Text Solution

13. An organic compound  does not give a precipitate with 2,4-

dinitrophenyl hydrazine reagent and does not react with metallic sodium.

It could be

A. 

B. 

C3H6O

CH3CH2CHO

CH3COCH3

https://dl.doubtnut.com/l/_1Y5K5KGG14rj
https://dl.doubtnut.com/l/_Ew4Sy3qwQNFz
https://dl.doubtnut.com/l/_LZeq2wxCLNij


C. 

D. 

Answer: D

View Text Solution

CH2 = CH − CH2 − OH

CH2 = CH − O − CH3

14. Among the given compounds, the most susceptible to nucleophilic

attack at the carbonyl group is

A. MeCOCl

B. MeCHO

C. MeCOOMe

D. MeCOOCOMe

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_LZeq2wxCLNij
https://dl.doubtnut.com/l/_8aMPkaIfvP7l
https://dl.doubtnut.com/l/_kXQj8nJD9Uoa


15.  


The above reaction occurs at

A. pH=1

B. pH = 4.5

C. any value of pH

D. pH=2

Answer: B

View Text Solution

CH3CHO + H2NOH → CH3 − CH = N − OH

16. Which of the following is not a common reaction of aldehydes?

A. Nucleophilic acyl addition

B. Nucleophilic acyl substitution

C. Alpha substitution

D. Reduction to a ketone

https://dl.doubtnut.com/l/_kXQj8nJD9Uoa
https://dl.doubtnut.com/l/_nsclhUMqKamO


Answer: D

View Text Solution

17. Which pair of the following carbonyl compounds can be differentiated

by ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

I2 /NaOH

C6H5 − CHO and C6H5 −

O

∣ ∣

C − CH2 − CH3

C6H5 −

O

∣ ∣

C − CH3 and CH3 − CH2 −

O

∣ ∣

C − CH3

CH3 − CH2 −

O

∣ ∣

C − CH2 − CH3 and C6H5 −

O

∣ ∣

C − CH2 − CH3

C6H5 −

O

∣ ∣

C − C
∣

CH3

H − CH3 and C6H5 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_nsclhUMqKamO
https://dl.doubtnut.com/l/_05idvhhtVjib

